R

ADSRA TL—RFALI) LILIITL— d1—X & E=>EUR  {EAF<BT(AKH)
START F4AT Player A Index Hdcp Player B Index Hdcp Player C Index Hdcp Player D Index Hdcp
1 700 | 657 | BB — 3.8 7 fal £ i 4.2 7 = Il B 2z 5.0 8 B X X 6.9 11
2 706 | 703 | H B =B R 4.2 7 B E &5 7.1 11 A B ¥ — 9.0 13 m 5 e 10.0 15
3 712 | 700 | A L = 3.5 7 = W & 5.4 9 8 BB 8.0 12 k & & Z 10.0 15
4 718 | 7:15 | B & % 5.0 8 H & B # 5.6 9  H B = 9.5 14
5 724 | 722 | B W 5= 5.3 9 % K = 5.5 9 E H B E 8.2 12
6 730 | 727 | B B R @ 7.2 11 = Nl £ 1§ 8.0 12 AR HIFEIHE 8.4 13

BUOSX TL—RIALI FrTaHE d—RX EUB=FDE FEAT<sRT(A)
START F4AT Player A Index Hdcp Player B Index Hdcp Player C Index Hdcp Player D Index Hdcp
1 700 | 657 | 18 BF BB HF & 12.8 14 | X H B 18 14.2 15 | #& B B X 16.1 17 XK H F R 16.3 18
2 706 | 703 | Il B b= 12.1 13 o LE 8 2 13.3 14 H f 3 & 13.9 15 A H & 5h 15.5 17
3 712 | 7:09 | fH I 12.0 13 HRXK — A 13.7 15 W OB BE 17 14.1 15 i X ia 16.0 17

ZF TL—RIALIN FvrTA4H4E d—RX FOHE=H TR #ERFTLT(R)
START FAAT Player A Index Hdcp Player B Index Hdcp Player C Index Hdcp Player D Index Hdcp
1 7zoo | es7 | W0 g FE B 7.0 8 B & & 7.9 9 hE & 5B 11.0 13 E H & F 12.0 14
2 706 | 703 | R H E K F 7.5 9 Ha F K 10.7 13 maeacDODE 14.5 17

X7RA1HDA >7T YV IRZHFRAULTHEDITT,
XRIGEMLEES, HGEZEEISHIILEBEIETVNEXT,




